
25.02.21 – LI: To find fractions of a set of objects 
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a. 
1

4
 of 44                    b. 

1

4
 of 84               c.   

1

3
 of 63               

 

 

 

 

 

4. Which amount is greater? Use the bar model to find your answer. 

a.     
1

3
 of 30            

1

5
 of 30                                    

   

    

b.      
1

4
 of 60            

1

5
 of 60                                    

    

  

5. Use this example to help you. 

Question: 
1

4
 of _____ = 20   Answer:   

1

4
 of 80 = 20 

 

                    

 

 a. 
1

3
 of _____ = 25                  b. 

1

4
 of ______ = 15               c.   

1

8
 of ____ = 7                

 

6.        

     

     


